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The ﬁgures in the margin indicate
- Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer as directed : 1x8=8
Rt SR Te ﬁwl

(i) The difference between actual cost and
standard cost is knows as :

‘W'mwmﬁﬁﬁwénmﬁs San
A?a'g‘ .
° (a) Variance

RS
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(b) Proﬁt
m .

(c) ]f)ifferential cost
SiTe I

(d) Ma_l’gir.lal cost
AR 7

(Chobse‘ the correct answer)

(8% Ge3 Ror )

Cost Sheet is prepared on the basis of :

Besliv TILT e TR R tarm s

(a) Direct cost |

(b) Indirect cost -

(c) Both direct and indirect coet
T I AT TA

(d) None of the above
GoITq GBI 7T

(Choose the correct answer)

(BT Bev R )

(i) * What is normal loss of material ?

APET T woT ud &2

(iv) A flexible bﬁdget is also known as
budget. (Fill in the blank) .
(YT IR 77 w‘«r) .

(v) Rule of thumb of current ratio is -
(F‘Lll in the blank)

Fi%ﬂo‘ Teied G Rt tm |
(2 318 77 W)_
(i) Cost of idle time due to strike should

be treated as factory overhead.
(State True or False)

aﬁ,‘aw MWWWW
Boifes 7 Rotedl @ | :
(5% 7 5o% )

(vii) Overheads is the total of all
expenses (Fill in the blank)

S e Yo ok Ooie

(T 312 743 33
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(viii) Variable cost per unit—

oS coifbe sfRasTie a—
(@) varies when output varies
TeA{lR 0 TN =

(b) remains constant

(c) increases when output increases

2.

- Besiima R el Tl I st
(d) decreases when output decreases
Berlive ZFT CoIRIN Sesl Tt 2 =

Answer the foliowing questions : (any six)
: 2x6=12

wmmwm (Repreat =y

).

(i)

State two advantages of cost
accountlng

t‘s‘wﬁ—»{ A RpioeteR ﬂﬁw &

erte two dlfferences betWeen d1rect"

labour and indirect labour.

maﬁswwaﬁmwzﬁrmﬁs

fera g
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(i) What is zero-based budget ?

WWW%?

'~ (iv) What does debtors turnover. signify ?

G T wgetey wy e

(v) Mention two points of difference
. between financial accounting and cost
accountlng

ﬁ@zﬁwmqmiwnmmfimm«w
7ol Ay T

(vi) What is the need for marginal costing ?
2 J7 Rpteieei AEEAROPRE B

(vii) How does the break-even point help in
decision-making ? *
oS el B[ s e R W
' ?P"@?
(viii) Mentlon two 11m1tat10ns of standard
costing.

Wﬁﬁ%w«zﬁrw&ﬁww«n

(ix) Define mlnlmum and max1mum stock
" levels.

, ﬂwﬁw«mﬁ'ﬁmmww
el )




(x) What is a stores ledger?

v RBoisl 35} B2

. 3. Answer the following questions : (any four)

5x4=20
—wﬁzmﬁawm (ﬁmwﬁﬁr)

() Distinguish between ‘cost reduction’
and ‘cost control’

REEE Wmﬁﬂm’quwﬁartl -

(i) What are thé precautions which are to

‘be taken before the usé of accounﬁng
ratios ?

ﬁwﬂw«wwwwwﬁs%
'Wﬁwwaﬁamﬁ?

(i) Mention the beneflts of budgetary
control system. :

| Wﬁm«qﬁwm|

(iv)' Explain thé concept of ABC analysis
- @8 a technique of inventory control.

T s g AwfS Bl ABC R
=it Ram vt 341

]306FN 0¢43 S 6 . s

(v)

(vi)

Distinguish between fixed budget and
flexible budget.

‘@mewsmwml

What is variance analysis ? From the
details given below, calculate—
2+3=5

Wﬁ@ﬂ#{%ﬁ%@?ﬁiﬁﬁm
S, Ao FA—

Material cost variancé
NPT T OO

Material price variance

- AVEIS VI OOy
Material usage variance
HAPETI JIR OO ' ~
‘ Standard Actual
(105 I (. 25))
Quantity (k9 50 56
AR (kg)
Rate per kg | 7 12
v (oS kg) |
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' (vii) Suggest few measures for improving
‘labour -productivity.

aﬁas%wﬁmn%q%w @ﬁ‘%‘mﬂ@nﬂ
forat

(viii) Mention two solvency ratios. Calculate

Debtors turnover ratio and average
collection period from the following :

2+3=5

! TP peiles i el | oo S SRl

(IR R Sl S oIS TRaZ Iy Sieq 3

v ]
ia) Credit sales . 16,00,000
_(b)’ Opening debtors 45,00,0'~
(c) Opening bills receivable 10,000
wiwef et B |
(d) Closing debtors 53,000
R TR |
(e) Closing bills receivable 12,000
o et Re
BO6FN 0043 s

Answer the following questions : (any two) -

10x2=20

e i e B i 3 (mm

@)

(@

(iii)

What is meant by .over and under
absorption of overheads ? How does it
arise ? How is. it treated in Cost
Accounts ? . 443+3=10

o et s e e e e if s

oI Oisjf SRR BET (AT T ? T
T R T R ARGE T W2

Explain the meaning of labour turnover.
What - are ‘the" impacts of labour
turnover ? How can we reduce the
impact of labdur turnover ?

' 2+4+4=10

'aﬁswﬁwﬂmlmwm

mlﬁmmw%%sﬂmmé

Discuss the advantages of Management
Accounting. How does Management
Accounting differ from Financial
Accounting ? . '5+5=10
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TRl RptR ARaEE ﬁvm RIREL
ot RSl Rptsaain o1t o o2

~ (iv) Explaln the difference between
‘forecasting’ and ‘budgeting’. Mention

. the requisites for a successful control
system. ' o 3+7=10

SN S AT ST A4 N1l il 4 |

a%tqzﬁam%ﬁmwﬁﬂm_

[ 1
(v) What is the purposé of preparing a Cost

Sheet? From the following details,
prepare a Cost Sheet : 3+7=10.

Beslivn TP 4TS I I R wore oy
wwwaﬂaﬁaww@ﬂww<’

R
Material purch‘ascc.l ‘ 2,50,000 -
o T
- Wages paid - 2,00,000
TR e |
Carriage inward . 2,000
SR ARl |

Depreciation of plant and machmery .10,000

(o = oy
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Répairs

CRINFS -

Plofer-per Sific A
‘Power -
e
Electricity
, A<
Carriage outward

ARSF A J7

e 4B
{VA. o '.

l

! BO6FN 0043
| .
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|

Warehouse charges

~ Office manager’s salary

Printing and stationary

11

5,010
10,000 -
_ 10,000

10,500

2,000
3,000

1,500

8000



